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I 7 mwn: rights of one who buys 2 or 3 trees in another’s field
a  If: he bought 2 trees — gets no land;
i Dissent: n™ —he gets land
ii  Note: parallel nywn in 0M23; p"n doesn’t provide for m11372 X9pn for someone who buys less than 3 trees; n™ al-
lows for 272 R1pn for someone who buys only 2
1 Conclusion (5810®): n™ allows for m272 XIpn even if one buys fruit (and has no land)
2 Argument: since our mwn implies the mwn in 0’11221 = N must be extending even to fruit bought in p1w
(a) Challenge: v.1
(i) Defense: is used to exclude 5" mva
(b) Challenge: v. 2
(i) Defense: is used to exclude land owned by non-Jew
(c) Challenge:v.3
(i) Defense: he means “You ('n) gave me money with which to buy them”
(d) Challenge: xn>1 of n" —if he buys only 1 tree — no ©*113°2 X1pn as he has no land - YW is refuted
3 Question (asked of ¥77): why does n"1 disallow n*113°2 ®1pn if he owns 1 tree; and 1327 if he owns 2?
(a) Suggested answer (737): perhaps n™ is unsure if buying 1 tree gives land and 1117 are unsure if he buys 2
(i) Challenge: n™ stated (above) — buying 1 tree does not grant land
1. Defense: he means ‘perhaps’ it doesn’t grant land
(ii) Challenge: if he is unsure, how can they be brought — might be n71y% P90
1. Answer: he requires the bringer to be w>*7pn them first
2. Challenge: then they can’t be eaten
a. Answer: he redeems them
3. Challenge: they might be liable for n"yIn
a. Answer: he separates n"yn
b.  Challenge: how can 1”yn be given to 1n3? (31, v”yn and »”yn could all be given to jn2)
i.  Answer: as per y"ar, who rules that even 1”yn goes to 112 as per XY’s fine on the nm%
4.  Challenge: they require nRnp (if they really are n™11°1)
a.  Answer: nR1p is dispensible
b.  Challenge: per X1 17 n%a — if it cannot be done, it becomes indispensible
i.  Answer: follows model of case where it was sent by n"9w who then died on the way
ii. Ruling: bring without reading as per v. 1 — taking and bringing should be done by same
person
c.  Challenge: let him read —it’s only m’pyoa
i.  Answerl: it looks like 9pw (because it isn’t coming from “his” land)
ii. Answer2: may lead to ignoring n"yn in the case of these fruits, assuming them to be
fully om»a-fruit.
b  And:if they grow, he cannot cut them; whatever grows from the branch is his, but whatever grows from the roots be-
longs to the land owner; if they die, he has no land (to replant)
¢ But if he bought 3 trees, he gets land, if the trees grow, he may trim them, whatever grows from branches and roots is
his and if they die — he has land (to replant)
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